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1048
HISTORY (In all Mediums)

Paper-World History 18*-20th Century
Time Allowed: Three Hours] [Maximum Marks: 90
Note :- (1) Attempt five questions in all.

(2) Question No. 1 is compulsory.
(3) Attempt any one question each from Units I, II, III

and IV.
1. Attempt any nine questions from the following in 25-30 words

each:
0) Mention two economic causes of American Revolution,
(ii) What was Boston Massacre ?
(iii) When, where and why was the meeting of the States General

called?
(iv) When did Continental System start ? Which decrees were

issued to enforce this system ?
(v) What were the main principles of Vienna Congress ?
(vi) Who invented the machine, water frame and when ?
(vii) Give any two political causes of Industrial Revolution,
(viii) Who inspired the people of Italy for independence initially ?
(ix) When the unification of Italy was completed ?
(x) Who is credited for the unification of Germany ?
(xi) Write two causes of New Imperialism,
(xii) How was Austria responsible for the First World War ?
(xiii) What was immediate cause of Russian Revolution of 1917?
(xiv) Write two causes of the Chinese Revolution of 1911.
(xv) Why did Japan enter the Second World War ? Write two

causes. 9x2=18
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UNIT-I
2. Explain the consequences of American Revolution.

- OR
3 . Describe the causes of French Revolution. 1 8

UNIT-II
4. What do you understand by the Industrial Revolution ? What were

its main causes ?
OR

5. Discuss the various stages in the unification of Germany. 18
UNIT-ffl

6. What are the causes and impact of Russian Revolution of 1917?
OR

7. Discuss the causes of Chinese Revolution of 191 land its impact 18
UNIT-IV

8. Give an account of the causes of World War-II.
OR

9. On the outline map of the world, mark the places : Beijing, Boston,
Geneva, Nanking, London, Moscow and explain any four of them.

10+8=18

:- (1)
(2) TRPT WTT 1 3jR|c(|ii'

(3) ^-Z I, II, III cM IV
1. f^T ^f % ^rf ^ SR^T '5Jc^ 25 % 30

(li)
(iii)
(iv) H^l^l^ yuilcfl ^>«f ^ Iff ? 1*T TFTTcff ^t eTPJ

% lei^ ^Mr %
(v) f^RT «M'il« %

(vi) *H?Tli, ""irft ^T (water frame)

(vii)
(viii) ^f ^T % Wd5idl

(ix) T^t ^T ^1K."l ^W ^7T I|3TT ?
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(x) «l4'f! 3> ^Ch1ct><ul % feF3; ̂  R)^*l WT t ?

(xi)
"'(xii) WT

(xiii) 1917
(xiv) 1911 rf[ "fNr ÎfcT % ^t ^R^T tef^fl
(xv) «IIHI1 ^T% t^W ^S ^f s?llPHd ^qf §3fT ?

9x2=18

2.

3. T ^ttct +K"f ^T T 1 18

4.

5. « j r t ^*<"l f lH ^R^f ^t "cpEf | 18

^•-III
6. 1917 ̂  -^fr (pfRr .% ^R°T ^rr ^*M ^r t ?

3w r̂
7. 1911 ̂ t ^Mt ^ftcf % «t>K"Tf

18
tf^-iv

8. f^fcf [̂-11 % *!<"?!' % WR ^f
3?«raT

9. 1̂  % "̂ M ^Ill-c)?! "tR Pl^fdRld

f %
^TT^TT ^R'l 10+8=18

:- (1) Hrfew f^B1 UtT yH(^ 5ft I
(2) y[K& <fara~ 1 ̂ SH^HT th
(3) gffe I, II, III »ft IV u^or f^B1 î r-f̂ r yn^ oft i

1. fTTH?? f^t1 oTSt ?? IJJ-T^ oft I ZJ^ot yH?> H1 Q"dd 25-30 w

(i) »n-ratofr
(n) an<;ft of3^»PH ofl"
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(iii) ^H rlftdtt Ft" iteoT oT ,̂ fofif ttf̂  foT^1 awtf)
(iv) HcFtjtut Ifgr&t oTF Hf UFt ? fSTT

o o t o >
— , •ii*'' '

(v) f%»fW ol'dldH % Ktf fHU'd oft 7T?> ?
(vi) HHt?T, U^ ^%K S1" »ifeHo(id foTH^ »
(vii) Qtiwfdlol oJTHt % fof^ ^t € d'Hrtldof ofideS'

(viii) F^WH f^E »TtTT€t ?5St
offer ?

(x) HSKSt ^ $o(1o(d<S ?5St foTH
(xi) t̂1 TTOd'H^'td % ¥ oT^tT
(xii) VfU^ f%F? CTQ" ?5St WHf^W foTt"
(xiil) 1917 5t fHt 6f3t £ ddoCfMoi oT^^ oft
(xiv) 1911 €t it?>t ojt^t % t oTO?? ftwi
(XV) fTU7?) €H^ f%F? CTCT f^ HTfHW foff1 uffe»F ?

9x2=18

2. Wratofr oJTBt ^ (SdlfiH^ 5t f%»frf¥>MT

n*
3. ^B1 oTHt % oî i' €T -^d&A oftl 18

yfoc-II
4. GtiUfdlof ojtnt 3s 3Tff "oft HĤ  cf ? fST=f% Ktf oT^?) oft

TW

5. fraMTft ^ 3o(lo!drt f^%

6. 1917 t?t ^Ht ojf3t ^ o^drt wra' y§^ oft

7. 1911 st ul?st o t̂ % oTTg?iJ »f§r fen % JJ51? y1̂  B^ ofti 18

8. f̂ H¥ cftr-II t
rT

9. f%H^ % fU%^ SoT^ fy^" f?>H?) HM'cS' § PeSH'tS Mdl'Q :
), frtftl^1, fSAPoldl, ?55< ,̂ HTHot »f§ fejTT 1

oft I 10+8=18
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